### **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 13 - Leith
Valid Votes	8,442
Positions to be Filled	3
Quota	2,111

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Chas BOOTH	Scottish Green Party	2,169
Katrina FACCENDA	Scottish Labour Party	1,804
Jacqueline Mary ISSERI	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	92
Andy MACKENZIE	Independent	370
Euan MCGLYNN	Alba Party for independence	129
Adam MCVEY	Scottish National Party (SNP)	2,754
Teresa PERCHARD	Scottish Conservative and Unionist	764
Robin Thomas REA	Scottish Liberal Democrats	360
	Total	8,442

Candidate Chas BOOTH Elected with 2,169 votes, being in excess of the quota of 2,111 Candidate Adam MCVEY Elected with 2,754 votes, being in excess of the quota of 2,111

### **Transfers Report**

This report contains the transfers results.

643.00000

### Stage 2 - Surplus of Adam MCVEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Katrina FACCENDA	949	0.23347	221.56303
Transfer to Jacqueline Mary ISSERI	51	0.23347	11.90697
Transfer to Andy MACKENZIE	185	0.23347	43.19195
Transfer to Euan MCGLYNN	333	0.23347	77.74551
Transfer to Teresa PERCHARD	42	0.23347	9.80574
Transfer to Robin Thomas REA	319	0.23347	74.47693
No further preference	875	0.23347	204.28625
Not transferred due to rounding			0.02362
	Total		643.00000

### **Transfers Report**

This report contains the transfers results.

58.00000

# Stage 3 - Surplus of Chas BOOTH

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Katrina FACCENDA	1,140	0.02674	30.48360
Transfer to Andy MACKENZIE	193	0.02674	5.16082
Transfer to Euan MCGLYNN	66	0.02674	1.76484
Transfer to Robin Thomas REA	321	0.02674	8.58354
No further preference	409	0.02674	10.93666
Not transferred due to rounding			0.00094
	Total		58.00000

### **Transfers Report**

This report contains the transfers results.

### Stage 4 - Exclusion of Jacqueline Mary ISSERI

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Katrina FACCENDA	20	1.00000	20.00000
Transfer to Andy MACKENZIE	19	1.00000	19.00000
Transfer to Euan MCGLYNN	5	1.00000	5.00000
Transfer to Teresa PERCHARD	19	1.00000	19.00000
Transfer to Robin Thomas REA	4	1.00000	4.00000
Transfer to Katrina FACCENDA	7	0.23347	1.63429
Transfer to Andy MACKENZIE	9	0.23347	2.10123
Transfer to Euan MCGLYNN	2	0.23347	0.46694
Transfer to Teresa PERCHARD	2	0.23347	0.46694
Transfer to Robin Thomas REA	4	0.23347	0.93388
Transfer to Katrina FACCENDA	6	0.02674	0.16044
Transfer to Andy MACKENZIE	4	0.02674	0.10696
Transfer to Euan MCGLYNN	2	0.02674	0.05348
Transfer to Teresa PERCHARD	1	0.02674	0.02674
Transfer to Robin Thomas REA	1	0.02674	0.02674
No further preference	25	1.00000	25.00000
No further preference	27	0.23347	6.30369
No further preference	7	0.02674	0.18718
Not transferred due to rounding			0.00000
	Total		104.46851

#### 104.46851

### **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Euan MCGLYNN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Katrina FACCENDA	17	1.00000	17.00000
Transfer to Andy MACKENZIE	59	1.00000	59.00000
Transfer to Teresa PERCHARD	12	1.00000	12.00000
Transfer to Robin Thomas REA	14	1.00000	14.00000
Transfer to Katrina FACCENDA	70	0.23347	16.34290
Transfer to Andy MACKENZIE	61	0.23347	14.24167
Transfer to Teresa PERCHARD	3	0.23347	0.70041
Transfer to Robin Thomas REA	34	0.23347	7.93798
Transfer to Katrina FACCENDA	24	0.02674	0.64176
Transfer to Andy MACKENZIE	7	0.02674	0.18718
Transfer to Robin Thomas REA	5	0.02674	0.13370
No further preference	32	1.00000	32.00000
No further preference			
•	167	0.23347	38.98949
No further preference	32	0.02674	0.85568
Not transferred due to rounding			0.00000
	Total		214.03077

## 214.03077